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Extra Practice

(5 Use Math Tools Complete each function table.

e I

| nputd w43 | Output 5 mputd ax+2 | Outpun
(imemy| 0 0+3 3 1 4y +2 3
' 2 2+% 7 3 43 +2 14
4 443 7 é 4i6) + 2 26
16. 17.
Input () =1 Output Inpat (¥) x~6 Outpat
1 1-1 0 2(3) -6 0
3 3-1 1 2(6)—6 c
5 5—1 4 2(9)—6 12
18. Ricardo weighs 2 pounds more than twice his sister’s weight. 7 LER RS
The function rule, 2x + 2 where x is his sister's weight, can be iy ﬁ o HJ:UJ‘
used to find Ricardo’s weight, Make a table of values that show s n L
Ricardo's weight when his sister is 20, 30, and 40 pounds. i W S 6l
Then graph the function. = s |
= 4 . o
N E it
x+2 |
Wight (] Weight (y) o ;
» 09 +2 2 BEECECEE
30 2(30) + 2 62 Ricardo's Sister’'s Wedght |Ib)
40 2(40) + 2 82
19. The Quinn family drove at a rate of 55 miles per haur. 0Ly T
The function rule that represents this situation Is 55x, s 5,275
where x is the number of hours. Make a table to find — I
haw many hours they have traveled when they have i 20 i
driven 165, 220, and 275 miles. Then graph the function. ® s .
T EEAL]
Hours {x) S5 Mies {y) ! 3
3 55(3) 165 n——rtrTi1
1 8 7 738 8
- 55(4) 220 ulzlasaa'
Hours
5 55(5) 275
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Use words and symbeols to describe the value of each term as a function

of its position, Then find the value of the twelfth term in the sequence.

Lodk at pesition @ and Fhe value of Hae benm,
Lis 4 less Fham &, 5o vy subbvactivg 4 From bhe
L ether pesiton wuwbers Tlisked, The Eunchion
valeisn—4, |2 —4=T

"'lhﬂn ‘ﬂl?lﬂ‘ﬁn
(e |Hnm‘ 2 | 3 | B ‘ 5

e == subbract 4 Evam bhe position wumbpey; w = 4 §

u‘hﬂh 112]2]|4]|n
ValoeofTerm 5 | 10| 15 20 =

multiply the position number by 5; Sn; 60

19. Describe the relationship between the terms in the sequence 4, 12, 36,
108, ... Then write the next three terms in the sequence,

Each term Is found by multiplying the previous term by 3;

324,972,296
20. The table shows the cost of a pizza based on the number of toppings. e
Write a function rule to find the cost for a pizza with x toppings. Tappings (x] Cost($)
ax+10 1 12
2 14
3 16
4 12
@ Identify Structure Determine how the next term in each sequence
can be found. Then find the next two terms in the sequence.
2. 1,4,7.10, '22,23,32,41,50, '23.13,3,43.6....
add 3:13,16 2dd0.9;59,68 | add 1%; 7%' 9
|

Find the :nl:dng number in each sequence.

27 w.zo%. 25. 145, 193 24287,

s LTy
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(KE Identify Repeated Ressoning Write an equation to represent each

T Nl b s

gl

function.
12./lnputix) | 0 |1 | 2 3 4 lu_mm 12|83 4 §
Owmputly)| 0 | 1| 2 33 44 Ousputly)| 10| 20 | 30 4 50
|
ve=|lx ¥y = 10x
Each sutpub y is || Hwes each iwput x,
Graph sach equation.
M. y=4x 115, y = 05x 16 y = x4 05
K . ¥y |
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ot 1 2 34 567 8N ~FEEEFESET oF ' 2 14 54 7 an

17. A company charges $50 per month for satellite television service
plus an additional 55 for each mavie ordered. The equation
¥ = 50 + 5x describes the total amount  a customer will pay if
they order x movies, Graph the function.

18. A fair charges an admission fee of §8, Each ride is an additional
52 The equation y = B + 2x describes the total charge y for the
number of rides x. Graph the function.

Total Charge
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An inequality is a mathematical sentence that compares

quantities. An inequality like x < 7 or x > 5 can be written Bs
to express how a variable compares to a number. h

Step 1| Label the minimum length of flounders that
may be kept.

minimum length of flounder

L L L 1 1 1
I ¥ LI I I 1

T R !
1 1 1 Ll I Ll Ll L J
0 1 2 3 4 5 6 7 8 9 1011 1213 1415

L 1 1
1

Label the length of the flounder Pat caught on the top bar diagram.

length of flounder Pat caught

-------- 12inches ======u

minimum length of flounder

L L 1 L 1 L
L) T T T T I

— —r—r—r—r—r—1
01 23 456 7 8 9101112131415

The bar representing Pat'’s fish is longer than the bar representing the
minimum length that can be kept.

So, Pat €an keep the fish.
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@ Model with Mathematics Work with a partner. Draw bar diagrams to

solve each problem.
1. For flights within the United States, luggage ' 2. Byron needs at least 20 minutes between
must be no more than 50 pounds. Imelda’s ' the end of his soccer practice and the start
luggage weighs 53 pounds. Can she take the | of his dentist appointment. His practice ends

luggage on her flight? N | at 4:30 and his appointment is at 5:00.

Does he have enough time? Y€s

iy | weight of Imelda’s luggage I
) ‘ time available

| maximum weight of luggage | | l
= [ minimum time needed |
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3. @3 Reason Inductively Which inequality is used when the situation involves
a“minimum®? Explain, greater than; Sample answer: By using the term

“minimum’, the situation is asking for the least value possible, so all other values
that make the inequality true Id be greater than or equal to the minimum.

4, @ Reason Inductively Which inequality is used when the situation involves
a“maximum"? Explain. less than; Sample answer: By using the term
“maximum’, the situation is asking for the greatest number possible, so all

other values would be less than or equal to the maximum.
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5. @ Reason Inductively Write a rule for determining possible values of a
variable in an inequality, Sample answer: Using a number line, determine

where the possible values lie in relation to the stated value. If the possible

value is to the left, it is less than. If it is to the right, it is greater than.

6. . HOW can bar diagrams help you to compare quantities?
Sample answer: The length of two bar diagrams can help you determine

if two quantities are equal or if one amount is greater than or less

than the other.



